=14 &mmm D EE WK Y K
I %qua*
mwmﬁﬂ%%ﬂ%mdéz\ [2%
......... Tl PIGOPTT 48 9 g 6 g g g i% P4 1 G AXA
| PIGOVIT A4S 9 g 14 g g g 74 ¢ 1 G 'S
PIGOTIT 66 i% & 6 g g € i I I G &4 [ [
B | PIGOPIT 6¢ 74 e é e g & i% I I G = Tm
P PIGOVTT €¢ g 5 9 i% 0 [ 9 =
\\ VIGOVIT 14 g g 9 4 0 I 9 —
g N\
R e M E b/ // WHEY T
o m: mlln = mg bt . \J._\«,\N =] ,W DW“.« 2 (V=) DW{@ \
WX HE U BT - Mﬁw Q«M&S «wﬁmvm QWMW HEL| WH i H% | m\Mﬁq ke
BHEORLH | yn | wnw | SRk id
=*F g
A«QMWL.\ ek ﬂ\%m@
YE—FUEFEEFFF I EETY EF Huwyll







